Division par Puissances de Dix (C)

Trouvez chaque quotient.

1-+0,001= 11+0,01=
39 - 0,001 = 30 +0,01 =
35+0,01 = 28 + 0,001 =
71+0,1= 62 +0,1=
44 = 0,1 = 4 + 0,001 =
84 + 0,01 = 10+ 0,01 =
85+ 0,01 = 24 + 0,001 =
56 +-0,1 = 87 +0,01 =
86 - 0,001 = 65+0,1=
38+0,1= 68+0,1=
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Division par Puissances de Dix (C) Solutions

Trouvez chaque quotient.

1-+0,001=1000 11+0,01=1100
39 + 0,001 =39000 30+ 0,01=3000
35+0,01=3500 28 + 0,001 =28 000
71+0,1=710 62+ 0,1 =620

44 +- 0,1 =440 4+ 0,001 =4000
84+ 0,01 =8400 10+ 0,01 =1000
85-+0,01=8500 24 + 0,001 =24 000
56 + 0,1 =560 87+0,01=8700
86 + 0,001 =86 000 65+ 0,1 =650

38 +0,1 =380 68 + 0,1 = 680
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